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Question 1:                                                                                                                  (6 marks)

Consider the following data
x 1 1.5 2 2.1 2.6 3

y 3.5 2.1 1.1 1 0.5 0.25

Find the relation between x and y using data linearization for a function of the form

f (x)=C eDx
, then approximate y at x = 2.5

Question 2:                                                                                                                  (8 marks)

a) For the following data, find the second order Lagrange interpolating polynomial f(x)  
in the simplest form then approximate f(8) (5 marks)

x 2 4 6

f(x) 8 12 16

b) Approximate the integration using composite trapezoidal rule with 5 sampling points

      (4 marks)

∫
1

2
1

x(1+(ln x )2)

Good Luck 1/2



Question 3:                                                                                                                  (6 marks)
Write the correct choice for the following questions  (1.5 marks each)

Part 1 2 3 4

Answer

Consider the following data to answer parts (1) , (2)
x 1 2 3

y 1.5 2.2 3.9

1) Using 2nd order Newton interpolation, the value of b2  is:

a) 0 b) 0.5 c) 1.5 d) 2

2) Assume the relation is approximated using f(x) = x + 0.5 , then SSE for this relation is:

a) 0 b) 0.5 c) 0.25 d) 0.7

3) Refer to the figure to approximate ∫
0.5

2.5

f (x )dx using composite trapezoidal with three 

sample points

a) 2.445

b) 2.565

c) 2.390

d) the integral cannot be approximated using 
trapezoidal rule

4) Using Lagrange interpolation for the points (a ,b) ,(c ,d) then L1(x)=

a) x – a
c−a

b) x –b
b−a

c) x – c
c−a

d) x –b
c−b

Good Luck 2/2
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